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1. Complete circuit diagram of the system.
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Fig. S1. Schematics of the reception circuit.

2. Detectivity computation:

The computation follows the reference:

Arredondo, B.; Dios, C. de; Vergaz, R.; Pozo, G. del; Romero, B. High-Bandwidth Organic
Photodetector Analyzed by Impedance Spectroscopy. IEEE Photonics Technology Letters
2012, 24, 1868-1871, doi:10.1109/LPT.2012.2217488.



We have a responsivity of R =0.144 A/W.

Under dark conditions, at -1V applied, we get 2-:1072 mA/cm?.

As our device has an A= 0.25 cm? area, we get a dark current of Ip = 0.5 pA in this case.
Then the NEP (Noise Equivalent Power) is:
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with e the charge of the electron, giving 2.78-:1072 W/Hz'/2,

Then, the detectivity can be obtained as:
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Leading to the 1.8-10' Jones value that we have remarked in the text.
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Linear response

Regarding the linear response of the OPD, we have measured it using a setup based on
a LED set with a narrowband emission centred at 593 nm and a simple transimpedance
amplifier. We show here the response, in a plot of generated current vs received optical
power. The correlation coefficient to a linear fit is shown in the graph, and its value,
0.996, reveals a remarkable linearity.
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Fig. S2. Linear response of the OPD, and a linear fit with its correlation R? coefficient.



